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b. Find i(t) for thc,circuit shown if i,Fi'gQ3(b) using Laplace Transform when the switch K is
closed and t&(t, = efc*) (Impulse fuhction).

.. t*,, 'ri' ,='.:::f18.Q3(u)

= elc*) (Impulse fuhction).
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Find Y-parameters for the network shown in Fig'Q4($' :i:'"4a.
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State and explain Initial Value Theorern-'
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RLC circuit show.r'., ume Initial condition as zero. RLC
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Find the transfer function Y fot the blockdiugram as shown in Fig'Q6(a)'" R ',e.- 'o*-
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for the sign#lllflow graph shown in Fig.Q6(b).
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a. Find the output c(t) for the first order system, wh#,:, i"u'

G(s)= a and R(s;=1 :''''.ti*-\/ s+a s * ;
b. Explain tn" con"ept of stability and its st+bffiry,%ecessary conditions.
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Explain any four,*g@ bcus plot rules'

Find the state m@I of the given electriFdJ ih" stute mffi if tfr" gir"n electricddffiir as shown in Fig.Qg(b)'
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Find the T. F (Tnansier tunction) for.tliaftmgritude plot as shovrn in Fig'Q10(b)'""'',,'"' t tfu;.t
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